B 5 HI mt

iR 1.5mR SR B IR (2 /A1)

@ 1. 53R S B IR AR (B )
= g3l | REME | BE
WEA15 | 15imRSY | Ralk | &6
@ FSR: BiED, REEIDR Z.
g 40 g 50 Mg 60 Mg 80
G1/8 G1/8 G1/8 G3/8
& < E [T -
& P 3 <
043 255 @64 @84 |
Meink: F—0H
HE B @ hEs LSRR
) MiE K83 i HE 30~
40 8- WA |- S i [100% B
60 A —
BRER — | FEH
WEA15 :g BRERIE \EA15—50 e
80
@ 1.55mR SV RS R A (B
= B | =EEEs | BERR | REXE i
WEN15 | &HEhs [ BEvmEEEn | RiEggEEs | WEATS
A& 40~60 A& 40~60 IR 80
#772: 10/20 1752 30/50 712: 30
G1/8 G1/8
G1/8
¢ X320 2
x$1820 2 M16x1 o
o™
M16x1 o
™ o|
o a 3
ol <
‘":"1 w
G1/8 G1/8
d1 ‘ d1
MeptaE: $—0m
BHE o= oy _ HiE | ETE d1 A B
e gE | @R | RERY | umzseg o 55 =
0 © 5 8 im0
WENTS 23 10203050 | 0 oimiy M16x1 =5 i >
.\ 10 105 10
80 30 M20x 1 0 o o T 0
T 30 140 50
’ — | EaEE
B —m T oo ?g o
10QD30 50
BEERTE WENTS 60 60 20 64 117 20
WEN15 — 50 — 20 gg 1;2 38
@ EM 2546 80 30 84 - —
HE 30~ o | G

s
i [100% [BitEN 5

KN GT)



	页 9

